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Qu. Answers Mark Part Marks 

1 3.14    π    

7

22

    √10 2 M1 3.1428(…) and 3.16(2…) seen 

2 650 2 M1 

4.2

600

 (× 2.6) 

3 44 2 M1 97 or 53 seen 

4 30 2 M1 108 × 1000 / (60 × 60) 

5 3.2(0) × 10
4

     2 B1 32000 or 32 × 10
3

 etc 

6 (a) 0.461939(…) 

 

(b) 0.4619 or ft  

1 

 

1ft 

 

7 1.62 3 M1 

4

1

 π 0.8
2

     

M1 adding (0.8 × 1.4) to their k π 

8 (a) (i)   

      

      

      
 1 

or 

      

      

      
 

  (ii)  

      

      

      
 1 

 

 (b) 2 1  

9 Sunday     (May) 25    1045 1, 1, 1 Independent  

10 24.3(0788…) 3 M1 5 × 3.5 + 2 × 1.5 

M1 (√) 1.5
2

 + 3.5
2 

11 

5

42 wcw −

  oe 3 M1 one correct move to clear fractions    

M1 second correct move to subtract term 

M1 third correct move dividing by 5 

May be in any order 

12 

4 6 10 P 15

2

8

5

20

RQ

 

3 M1 15 only in small circle 

M1 10 only in the intersection 

A1 all correct including labels 

13 x = 12    y = –10 

 

3 

 

M1 consistent addition (& mult) for x 

or consistent subtraction (& mult) for y 

A1 only earned if method correct 

14 3.84 or 3

25

21

 3 M1  y = 
2

x

k

  oe  A1  k = 96   
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Mark 

1 847 1 

 

 

2 correct regions shaded 1, 1 

 

 

3 48 2 

 

B1 for 3 and 16 seen 

4 (a) 10 

 

(b) 5.5 oe 

1 

 

1 

 

5 (a) 86400 

 

(b) 8.64 × 10
4

 

1 

 

1ft 

 

6 108 2 
M1 for 3

3

 or 27 or 

3

3

1

⎟

⎠

⎞
⎜

⎝

⎛
 or 

27

1

 seen 

7 13 3 B1 for 12, 5 seen M1 for (their 12)
2

 + (their 5)
2 

or M2 √[(–8 – 4)
2

 + (1 – 6)
2

] oe  

or M1 if √ missing 

8 6.70 3 M1 for ( r
3

 = ) 1260 × 

π4

3

 oe seen 

M1 for 3  of their r
3

 seen or implied 

9 22.5 oe 3 B2 180 = 5x +2x + x oe or better 

B1 for 2x or 6x marked in the correct place on the 

diagram. 

10 x = 13 

y = –9 

3 M1 for consistent multiplication and 

addition/subtraction 

A1 for x = 13 or A1 for y = -9 

11 (a) 85.8 

 

(b) 456.8625 cao 

2 

 

1 

M1 for 23.25 and 19.65 seen 

12 (a) (0)8(.)01 (am) 

 

(b) 78.4 or 78.38 to 78.39 

1 

 

3 

Not 8.01pm 

 

M2 for 827 ÷ 10.55 

or M1 for figs 827 ÷ their time 

13 (a) 0.54 

 

 

(b) 1.61 

2 

 

 

2 

M1 for 

000010

000207.2 ×

 oe  

or SC1 for figs 54 in answer 

 

SC1 for figs 161 or M1 200
2

 or 20 000
2

 seen 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Mark 

1 53.1 2 B1   C = 36.9 seen, must have C stated or marked 

on the diagram  

or M1 sinA = 
5

4

 or tanA = 
3

4

 but must have 

A stated 

2 
63 + , π 

2 

 

–1 for each error or omission 

3 Working must be shown 2 

M1  

9

14

and 

9

16

  M1   

8

7

16

14

=    oe 

or visible cancelling 

4 0.8
2

 2 

M1  conversion of 

27

16

 (= 0.5(9...)) and 

0.8
2

 (= 0.64)  to decimals seen
 

5 (6)€ or euros (with correct working)  2 M1  one of 6 × 1.9037 or 11.5 ÷ 1.9037 

or 11.5 ÷ 6 seen 

6 3.322 cao 2 

 

B1  3.3219(…) or 3.32(20) seen 

7 1.85 × 10
4

 3 B2 18500 oe seen or M1  4x = 74000 

or x = 2 × 10
4

 – 1.5 × 10
3

  

8 16 3 
M1   p = qk  

A1    k = 1.6 or 8/5 

9 1275, 1425 3 B1 85 or 95   or    0.85 or 0.95 

M1  their LB or UB × 1500  

where 85 Y LB < 90         90 < UB Y 95 

10 (a) (0)700 or 7 am  

 

(b) 1700 or 5 pm 

2 

 

1 

M1 100 – (5 × their(22 – 6) + their(13 – 8)) 

      or better  soi 

11 

c

bc+4

 or b

c

+

4

 cao 

3 M1 correct move completed 

M1 second correct move completed 

M1 third correct move completed 

12 x = 1 

y = 0.2 or 

5

1

 only 

3 M1 consistent mult and add/subtraction 

A1 one value correct after M awarded 

13 

(a) 72  

 

(b) 36 

 

(c) 54 

1 

 

1 

 

2ft 

 

 

 

 

ft 90 – (b)          M1  POQ = 108  
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Mark 

1 2y(x – 2z) 2 B1 for y(2x – 4z) or 2(xy – 2yz) 

2 (x =) 3(y – 5) oe final answer 2 M1 for correct first move  

y – 5 = 

3

x

 or 3y = x + 15 

M1 for their correct second move  

3 (a) 

 

 

 

 

 (b) 

 

 

 

 

 

14 

 

1 

 

 

 

1 

 

4 816 cao 2 M1 197.5 and 210.5 seen 

5 a  any negative integer  

n  any even (positive) integer 

2 B1 for one correct 

6 (a) 

 

 (b) 

1.646 × 10
7

  

 

3.32 × 10
–2

  

1 

 

2 

 

 

B1 for 0.0332 seen or 3.3 × 10
–2

 as answer 

or B1 for 3.32 × 10
k

 

7 (a) 

 

 (b) 

36 

 

correct working  

1 

 

2 

 

 

M1 for 
6

7

 oe improper fraction 

M1 for 
21

12

 = 
7

4

 oe or visible cancelling 

8 (x =) 5   (y =) –1 3 M1 for consistent multiplication and add/subtract 

as appropriate 

A1 for 1 correct answer 

9 127.31 cao 3 M1 for 120 × 1.03
2

  

A1 for 127.308 

If M0 award SC2 for 7.31 or 247.31 

10 120 3 M1 7t + 11(t + 5) = 2215 

A1 18t + 55 = 2215  

11 500 3 M1 V = kL
3

 any letters may be used for V, k and L 

A1 k = 4 
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11 x = −7 

y = 9 

3 M1 for consistent multiplication and addition/ 

subtraction as appropriate.  Allow computational 

errors 

 

A1 for  x= –7  or  y = 9 

 

12 

30

27

30

55

+  oe or 

30

27

30

25

)1( +  oe 

 

30

82

  oe  or  

30

52

)1(   oe 

 

15

11

2   M2 must be scored  

 

M1 

  
M1 

  
A1 

 

for denominator of 30k 

  
for denominator of 30k dependent on previous M1 

  
If M0 scored then SC1 for common denominator of 

30k seen  

13 1.92 3 M1 
2

x

k

y =  oe        B1 for k = 48 

14  

 

 

3 

 

15 (a) 

 

 (b) 

34.4 

 

300 

2 

 

2 

SC1 figs 344 seen 

 

SC1 figs 3 seen 

16 (a) ⎟

⎠

⎞
⎜

⎝

⎛−

3011

21

 2 B1 any two entries correct 

 (b) ⎟

⎠

⎞
⎜

⎝

⎛ −

53

24

26

1

  oe 2 B1 ⎟

⎠

⎞
⎜

⎝

⎛

dc

ba

26

1

  or  ⎟

⎠

⎞
⎜

⎝

⎛ −

53

24

k  

 
17 

1

34

−

−

=

c

c

w   www 

 
4 

 
M1 clearing denominator and removing brackets 

M1 correctly collecting terms in w on one side only 

M1 factorising correctly 

M1 divide by coefficient of w 

18 (a) 

 

 (b) 

0.8 

 

1850 

1 

 

4 

 

 

M1 for area = distance travelled 

M1 for two correct area statements 

M1 for complete correct area statement 

2 

1 

3 1 

2 0 

2 

R 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 112 2 M1 for 240 ÷ (7 + 8) × 7  

2 (a) 211 cao 1  

 (b) 216 cao 1  

3 (x =) –3   (y =) 5  2 M1 for correctly eliminating one variable 

4 

81

16

  cao 2 B1 for

16

81

,

81

k

,

k

16

or (2/3)
4

 seen 

5 (a) 1.28 × 10
5 

1  

 (b) 128 500 1  

6 882 2 M1 800 × 1.05 × 1.05 

7 

9

1

,

4

1

 
M1 Both fractions seen 

 

⎟

⎠

⎞
⎜

⎝

⎛
=+

4

1

9

1

36

4

+

36

9

=

36

13

 

E1 Both fractions over a common denominator and 

added to give

36

13

 

8 0.186 2 B1 for 2.477 to 2.478 or 13.29… seen 

9 (a) 5 or −5 1  

 (b) −0.714 (−0.7143 to −0.7142) or −

7

5

 2 M1 for −2 + 2 + 1 − 3 − 1 − 2 and ÷ 7 

10 9 h 12 min 3 M1 for 8 × 1.15   A1 for 9.2 

B1 ft independent for their 9.2 correctly 

converted into hours and minutes 

11 x(p – 2q)(p + 2q) 3 M2 for (px – 2qx)(p + 2q) or (p – 2q)(px + 2qx) 

or M1 for x(p
2

 – 4q
2

)  

12 225.(23112) 3 M2 for (800 ÷ 3.8235 – 150) × 3.8025 

M1 for 800 ÷ 3.8235 

13 68.5   www 3 M2 for 67.13 ÷ 0.98 

or M1 for 67. 13 is 98%  

14 

3

2

66 or 66.7   www 3 M2 for 

)2(π

π

2

3

3

4

rr

r

 (× 100)   or M1 for )2(π
2

rr  

15  

xa

c

p

−

=  

3 M1 one correct move 

M1 second correct move 

M1 third correct move marked on answer line 

Page 2 Mark Scheme: Teachers’ version Syllabus Paper 

 IGCSE – October/November 2010 0580 21 

 

© UCLES 2010 

Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 20 (but 3, 4 and 8 must be seen www) 2 M1 3, 4 and 8  seen www 

2 1.2496 cao 2 Allow 1

625

156

 

M1 1 + 0.2 + 0.04 + 0.008 + 0.0016  

3 2 2 M1 3x – 1 – 3x + 3 

4 0.9
3

  0.9
2

  9.0   
3

9.0  2 M1 0.94(8683…)  0.96(5489….)  0.8(1) 0.7(29) 

5 (a) 5 

 

(b) 2 

1 

 

1 

 

6 1.15(2) × 10
–2 

2 M1 figs 115(2) 

7 

x

x

2

5 +

 2 M1 4 + 1 + x   seen 

or M1 

x

x

4

210 +

 oe 

8 40.5  2 M1 6.75 seen or 6 × their LB   

9 $674.92, 674.9(0) or 675  3 M2 600 × (1 + (4/100))
3

 or better     oe 

or M1 600 × 1.04
2

  oe  

10 x = 4     y = –3  3 M1 consistent mult and sub/add 

A1 one correct value but M must be scored 

11 
D P C

1
2 3

A O B

0

2

2
11

 

3 Marks allocated for R in one of the regions shown 

12 
x = +/- √(5y) – 3 

or x = +/- y5  – 3 

3 M1 correct move of the 5 completed   

M1 correct move of the square completed 

M1 correct move of the 3 completed 
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14 10.8 or 10

83

70
 

3 M1 figs 10 ÷ time 

M1 10 ÷ 0.92r, 0.922 or 83/90   

15 y = –2x + 8  cao oe 3 M1 (m =) 

30

28

−

−

 oe   B1 c = 8 or y = mx + 8 

or subst. correct point in y = “m” x + c 

16 

2

4

g

h

 or 

2

2

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

g

h  
3 M1 squaring correctly 

M1 clearing denominator correctly 

M1 dividing by coefficient  of i 

or SC2 for correct unsimplified expression     

17 x = –1,  y = 5 3 M1 consistent multiplication and either add or 

subtract 

A1 for one correct after M1 

18 315 3 M1 

360

x

 × 2 × π × 8 oe 

M1 

360

x

 × 2 × π × 8 (+ 16) = (16 +) 14π  

19 2.88 3 M1 40
3

 oe seen  A1 2 880 000   

B1ft their 2 880 000 ÷ 100
3

   

or B1 0.000045  M1 40
3

  A1 cao 

or M1 0.4
3

  M1 45 × 0.4
3

  A1 

20 (a)  63.4 2 M1 tan(M) = 

2

4

 oe  

 (b) Vertices at (4, 1), (8, 1) and (10, 3) 2 B1 two vertices correct 

21 (a) 2.4 oe 

 

(b) 680 

1 

 

3 

 

 

M1 an area found   

M1 40 × 20 – 

2

1

 × 20 × 12 oe    

22 y [ 1,  x Y 3, y Y x + 5       oe 5 

 

 

 

 

B1 y R 1 

B1 x R 3 

B2 y R x + 5 or B1 y R – x + 5 

where R is any inequality  

B1 all 3 inequalities correct  

23 (a) (Angles in) same segment 

 

(b) (i) 100 

 (ii) 43 

1 

 

1 

1 

Allow (angles on) the same arc 

 

 

 

 

 (iii) 3 2 B1 OBC or OCB = 

2

1

(180 – 86) (= 47) 


